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public static int f(int x, int y) {

if (x=1y)

return 0;

else

return f(x -1, y + 1) + 30;
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int x = 0;

inty=20;

for (int 1 = 1; 1 < 10; i++) {

if ((Hx > 1) & (Hy) > 3) {

X++;

}

}
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int x = 2;

inty = 4;

for (int 1 = 1; 1 < 10; i++) {

if ((Hx > 1) & (Hy) > 3) {

Xt=y;

}

}
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public static void main(String[] args) {
intallJ[]=1{1{1 2 2}, {4 4 5}, {3 2 1} };
System. out. println(average(a));

}

public static double average(int arr[][]) {
0.0, count = 0.0;

0.0;

0; i < arr. length; i++) {

double sum

double ret

for (int i
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for (int j = 0; j < arr[i]. length; j+t+)

sum = sum + arr[i][j]+2;
count+t+;

}

}

ret = sum + count;

return ret;

}
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public static void main(String[] args) {
int num = 20;

int sum2 = 0;

for (inti=1;1<=num;i+=3) {
sum?2 +=i;

}

System.out.println(sum?2);

}
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public static void main(String[] args) {
int num = 18;

int sum2 = 0;

for (inti=1;1<=num;i+=4) {
sum?2 += ++i;

}

System.out.println(sum?2);

}
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public static void main(String[] args) {
int x = 100;

inta=x--;

int b =++x;

int ¢ = x+=3;

int d = (a>b)?a:(a>c)?a:(b>c)?b:c;
System.out.println(d);

}
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public static void main(String[] args) {

int arr[] = { 9, 12, 16, 18, 47, 48, 49, 50, 61 };
System. out. println(oddamt(arr));

}

public static int oddamt(int arr[]) {

int sum = 0;

for (int 1 = 0; 1 < arr. length; i++) {

if (arr[i] % 2 !=0)

sumt=arr[i];

}

return sum;

}
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